A1 =TV A — DS RERERR

T R &R s E B3R ER

ORIEHES  BYEISS/ERT PA—1000
ORIEA* HHNETEZ DM E 1mTHEIE

R WEE | BM | il
WA =TostE 45— 11815H 8:40 0.048
BAREIS2=T1EU2— 11H158 9:50 0.095
MEgIZa=—FTasE23— 11A158 8:40 0.066
RS2 =T 5— 11A158 16:15 0.054
BEISA=T V5 — 11815H 8:45 0.082
RIS =T 2— 11815H 11:00 0.058
RAKEIZa=TE23— 11815H 11:30 0.076
HRAZa=FTaEVE— 11815H 12:15 0.054
EWEIS2 =T 52— 11A158 15:00 0.066
REEIZa=T1E 32— 11815H 8:45 0.080
RHIAZa=—T14E5— 11A158 8:45 0.080
RIS =Tt — 11815H 9:00 0.076
KEFAZa=TaE2— 11815H 10:15 0.058
BT =T R— 11H208 10:30 0.082




